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Make sure that the answer-book contains
30 pages (including title page) and are properly
serialed as soon as you receive it.
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Qﬁmu:o:u of Part-1 are of objective Q.um
carrying 1 mark each. Answer of each Qamnzo:

should not be more than one sentence.
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carrying 4 marks each. Answer of each question
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three questions from this part. -
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Up to which income, an individual (Female) more than
sixty years of age is free from income tax liability ? 1

dag H 9 BB T S WS 520,064 QB I

d@mwm>ﬂ@wmmd$mmdmm%_,_ 1

af% 4 < I B G T 5,20,064 5. ¥ @ 4T 2884 F

aed qUiieh ¥ & | B I

If Sh. Ram Lal’s 88_ income isRs. 5,20, om» then BEa
it offunder Section 288A. 1
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a-Prafxor ad 2014-15 % Q3 STEHTH Frater <SR
R = X Ry g 82 g & 1§ 94 6,65,500%. &
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Compute the amount of income tax payable for the

A/Y 2014-15 when total income of 82 years old
Mr. X is Rs. mmmmoo i . i
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How can adjustment be made of loss on sale of units

acquired within a period of three months from record

* date ? Explain briefly. : L . A
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Discuss the provisions om Jaw relating to double taxation -

relief when no agreement exists with foreign country. ,_
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Discuss the rate om inco

me tax for the Fj
201o.10 Inancial v&m“.
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~ Calculate income tax liability of Sh. Sohan Lal for the
- assessment year 2014-15 if

(i) His net agriculture income is Rs. 60,000 and
(i) Non agriculture income is Rs. 1,82,000. 4
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Explain the tax treatment of income received from
different institutions. 4
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Briefly explain the vmamos of Hindu Undivided Family, -
: 5
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U_wo:mm regarding rectification of defective return. 4 _
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Discuss the importance of tax aoacoﬂoa at source. 4
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Discuss the step regarding computation of total income
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Explain the procedure of appeal to commissioner

(appeals). 4
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Explain the procedure to claim relief u/s 89(1). 6
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Clearly explain the oosa_zonm to be satisfied for an

income to be treated as agricultural income. - 6
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@ 17,000 5. 1 ) 6
Mr. Sohan, an Sa_Sacm_ converted his self acquired
_property amounting Rs. 60,000 into. HUF. property on
~ 1-6-1994. The U.H.F. consists of himself, his wife, a
major son and a minor son. The HUF. omBnamﬁEooBm. ,‘
of Rs. 1,00,000 from other sources. ,:6 EooBo ».88 A

the property converted into H. U.F. vnowmiv\ is

Rs. 10, ooo and his wife and minor son are entitled to a .

shareint. Compute the total income of H.U.F. and total
income of Mr. Sohan if Mr. Sohan has Rs. 17,000 as his
- jndividual income. % I 6
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¢S§ are the different offences which make an assessee
~ liable to cmeocmson ? Explain. 6

Discuss the procedure mS settli
Settlement Commission,
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